i

LATCH ASSEMBLY PART NUMBER: R4-25-2| |

(1]  MOUNTING STYLE B] BASE STYLE
0 SIDE MOUNT @6.7 (.263) THRU HOLE 2  MOUNT FOR CABLE
1 SIDE MOUNT 1,/4-20 THREAD 3 MOUNT FOR CABLE
2 SIDE MOUNT M6X1 THREAD 6 MOUNT FOR CABLE
3  FRONT MOUNT (M6X1) WITH@ 6.7 (.263) 7 MOUNT FOR CABLE

SIDE MOUNT

LATCH WITH MOUNT FOR CABLE WITHOUT
RETURN SPRING ASSIST

53.3

[2.1]

=)
‘ o
gwmm

N9

]

51.1

[2.01]

—— 30 5 ——— e DO —

[1.27] [1.1]

- (99.8) ——— =

K3_929ﬂ

WITH RETURN SPRING ASSIST,
WITHOUT RETURN SPRING ASSIST,
WITH RETURN SPRING ASSIST,
WITHOUT RETURN SPRING ASSIST,

2X SIDE MOUNT HOLES
(:i//// (SEE TABLE)

2X FRONT MOUNT HOLES
(SEE TABLE)

PANEL PREPARAT IONS

(t— 20 —o

. 8]

0-500

B

M [ M

NO BUMPER
NO BUMPER
WITH BUMPER
WITH BUMPER

MATER AL

REVISION HISTORY

REV DATE

BY

DESCRIPTION

H [10JUL2023

CAD/HRS

PRN: P2023-1279

10 STEEL, ZINC PLATE
15 STEEL, BLACK ZINC NICKEL
/7 STEEL, ZINC NICKEL

LATCH WITH MOUNT FOR CABLE WITH

RETURN SPRING ASSIST

53.4

[2.1]

51.1

@_bﬂ

|

)

2X SIDE MOUNT HOLES
(SEE TABLE)

<

-

[2.39] [1 _.27] [1.1]
- (122)
[[47.8)}
L_j dﬁu 11 /

PANEL PREP WINDOW TO ALLOW THE ENTRANCE OF STRIKER
WILL DEPEND UPON STRIKER ALIGNMENT,
FOR REFERENCE STRIKER DIMENSIONS SEE SHEET 4

f—y———————————————— /) ——————————

[2.8]

2X FRONT MOUNT HOLES
(SEE TABLE)

2X 12 MAX 2X 20 MAX.
2X MINIMUM RECOMMENDED [. 5] . 8]
PANEL HOLES @ 15 MIN
(SEE TABLE) 6]
(STRIKER)
-- -- -- -- ==
—I 1 []
2 ' 2 o
' t3z3z=c=ss2 — 25 MIN.
I— ‘ —|—: E [1] NOTES:
] |
H —(+)— [}
L_ C) I SEE SHEET 4 FOR MATERIAL, STRIKER AL IGNMENT AND MOUNTING SPECIFICATIONS.
] ]
, e e o R4-25-20S-5WEB-MM @ 6. 7mm THRU 7.0 [.276]
' v 2 R4-25-215-5SWEB-MM 1/4-20 THREAD $6.8 [.266]
- R4-25-225-5SWEB-MM M6x1 THREAD D6.4 [.25]
|
i R4-25-23S-5WEB-MM M6x1 THREAD @6.4 [.25]
I ASSEMBLY PART NUMBER MOUNT ING STYLE MINIMUM PANEL HOLE
1 MIN CFe NUMBER THIRD ANGLE
2019-0330
/ i o % % a4 southco
.64
. ”// MILLIMETERS [IN] CONNECT- CREATE - INNOVATE
45 S — 41.8 —®r=—— /0 0.1 ———— B6.4 MIN. — TOLERANCES UNLESS OTHERWISE NOTED|PESCRIPTION R4_95 ROTARY LATCH
2R 2.76 +.005
[1.27 +.005] : ] [. 25] VoTOVE ALL DIMENSIONS WITHOUT
TOLERANCES ARE FOR
SIZE SYSTEM DWG NO.
SIDE MOUNT FTRONT MOUNT FROPRIETARY T REFERENCE ONLY.™ [ 3% ™™\ x J-R4-25-5
REGET 48 UIERoRErren D S ] _ - —_—
eln s A ot | PER ASME Y14.5M-1994 CAD 18MAY 2021 10 I OF 4
8 ‘ 7 ‘ 6 ‘ 5 Z‘l 4 3 2 w




i

| [0-510[B |-[M[M

LATCH ASSEMBLY WITH MICRO-SWITCH PART NUMBER:
R4-25-2

REVISION HISTORY

REV DATE

BY

DESCRIPTION

H [10JUL2023

CAD/HRS

PRN:

P2023-1279

1] MOUNTING STYLE BASE STYLFE MATER [ AL
0 SIDE MOUNT @6.7 (.263) THRU HOLE 2  MOUNT FOR CABLE WITH RETURN SPRING ASSIST, NO BUMPER 10 STEEL, ZINC PLATE
1 SIDE MOUNT 1,/4-20 THREAD 3 MOUNT FOR CABLE WITHOUT RETURN SPRING ASSIST, NO BUMPER 15 STEEL, BLACK ZINC NICKEL
% SIDE MOUNT M6X1 THREAD 6 MOUNT FOR CABLE WITH RETURN SPRING ASSIST, WITH BUMPER 77 STEEL., ZINC NICKEL
3 FRONT MOUNT (M6X1) WITH® 6.7 (.263) 7  MOUNT FOR CABLE WITHOUT RETURN SPRING ASSIST, WITH BUMPER
SIDE MOUNT
2X SIDE MOUNT HOLES
(SEE TABLE)
| (153)
[(e)]
@' |
CAM STATUS INDICATOR CIRCUIT
L8 MAX. ALLOWED FASTENER LENGTH L8  MAX. ALLOWED FASTENER LENGTH CAM POs  ——
[.31] [.31] CAM OPEN WITH STRIKER
BLACK/GREY WIRES CLOSED CIRCUIT| OPEN CIRCUIT
MOUNT FOR CABLE WITH BLACK/BLUE WIRES | OPEN CIRCUIT [CLOSED CIRCUIT
RETURN ASSIST SPRING SHOWN
5 BLUE (CAM STATUS N.O.)
CAM SWITCH
6 GRAY (CAM STATUS N.C.)
T 4 BLACK (COM) ©
-—-OPEN
"F —-—CLOSED WITH STRIKER
j CAM POSITION
L1111 | ﬂ\\\ 1IN F;Z;
PIN 3 CONNECTOR P INOUT
. PIN FUNCT | ON
PIN 2 1 NOT CONNECTED
- 2 NOT CONNECTED
PIN 1
3 NOT CONNECTED
4 |SWITCH COMMON (BLACK)
5 DOOR SECURE (BLUE)
é%ilié % 5 DOOR OPEN (GRAY)
MOLEX MICRO-FIT 3.0
CONNECTOR
cre NUMBERzoqg,ogso THIRD ANGLE @ ®
southco
MILLIMETERS [ IN] CONNECT- CREATE - INNOVATE
NOTES - TR TR TOLERANCES UNLESS OTHERWISE NOTED|PESCRIPTION RA_D5 ROTARY LATCH
VOLUME ALL DIMENSIONS WITHOUT
TOLERANCES ARE FOR T ST
SEE SHEET 4 FOR MATERIAL, STRIKER ALIGNMENT, MOUNTING AND SWITCH SPECIFICATIONS. __PROPRIETARY TTew | REFERENCE ONLY. A2 NX J-R4-25-5
‘NHEE;::QEE:%N;E:\:SECCTLOEN;ngD:EgNéT:\;A:LEEA%I\%T%A;L?ED SER ASME Y14 5M-1994 SRAWN BY CAD DATE,‘BMAYZOZT SCALE T SHEET > or 4
8 7 6 5 Z?ﬁ 4 3 2 1




i

w o = o]

~ ol

5
[2

bﬂ

LATCH ASSEMBLY WITH MICRO-SWITCH AND ELECTRONIC ACTUATOR
PART NUMBER:
R4-25-2

1E

MOUNT ING STYLE

SIDE MOUNT @6.7
SIDE MOUNT
SIDE MOUNT M6X1
FRONT MOUNT

(.263)

THREAD
(MBX 1)

SIDE MOUNT

SPRING OPT|ONS

KITCK-0UT SPRING
PULL TO OPEN

-91

1/4-20 THREAD

M [ M

E|B

THRU HOLE

WITH® 6.7

ELECTRIC ACTUATION OPTIONS

(™)

SEALED (I1P67)

(.263) BASE STYLE

B

.2 MOUNT FOR
S  MOUNT FOR
o MOUNT FOR
/7 MOUNT FOR

CABLE
CABLE
CABLE
CABLE

12vDC EXTEND & HOLD MOLEX 2X3 CONNECTOR

LATCH WITH MOUNT FOR CABLE WITHOUT
RETURN ASSIST SPRING

125

[4.9]
D 6.4

[ 25]

®

southco
—— 2X SIDE MOUNT HOLE
‘

(SEE TABLE)

T =

[O)

[N—
—
[T T 11 ]
=

southeo

| ——

L..d

S

60.7

[2.4]

- - 2 MAX.

29

[1.1]

PIN 2

PIN 1

31

[1.2]

DETENT VERSION

WITH RETURN SPRING ASSIST,
WITHOUT RETURN SPRING ASSIST,
WITH RETURN SPRING ASSIST,
WITHOUT RETURN SPRING ASSIST,

—— 17.5

[ 69]

ACTUATOR SPACE

CONNECTOR P INOUT

N FUNCT | ON

GROUND

(BLACK OR BROWN)

POWER RELEASE

(RED)

POWER RELOCK

(ORANGE )

SWITCH COMMON

(BLACK)

DOOR SECURE

(BLUE)

OO PRI WHIN]—=]|—

DOOR OPEN (

GRAY)

20

8]

NO BUMPER

NO BUMPER
WITH BUMPER
WITH BUMPER

10 STEEL,
15 STEEL,
/7 STEEL,

MATER AL

ZINC PLATE
BLACK ZINC NICKEL
ZINC NICKEL

REVISION HISTORY

REV DATE

BY

DESCRIPTION

H [10JUL2023

CAD/HRS

PRN: P2023-1279

LATCH WITH MOUNT FOR CABLE WITH
RETURN ASSIST SPRING

39 .1

[1.54]

147

® &

m//

2X SIDE MOUNT HOLES

(SEE TABLE)

L O L (1

] 60.7

[5.8]
B 6.4
[.25]
soutiheo

-

S

e [2.4]

GROUND -
12 VvVDC +
12 VDC +

POWER SUPPLY

2 MAX. L 13 4
31 [.52]
[1.2]
6l 29— DETENT VERSION
[2.39] . 39 3 . [1.14]
[1.27]
1 BLACK A
OR BROWN _GROUND %
2 RED +12 VvVDC COMMAND 2
S5 ORANGE T
+12 VDC COMMAND 0
R
4 BLACK COMMON S
00 SWITCH SHOWN W
5 BLUE
Q\»- IN CAM CLOSED | 1
o H

ELECTRICAL HOOKUP (EXTEND AND HOLD)

CPB NUMBER

DETAIL C 2019-0330| THIRD ANGLE {§9
- ®
SCALE 31 PRoJEeTION SOUthCO
MILLIMETERS [IN] CONNECT- CREATE - INNOVATE
MOLEX MICRO-FIT 3.0 T TOLERANCES UNLESS OTHERWISE NOTED|PESCRIPTION RA_D5 ROTARY LATCH
CONNECTOR VOTOVE ALL DIMENSIONS WITHOUT
NOTES: TOLERANCES ARE FOR S S
L RORIETRCITEN, | FEPERENER ONET A N  J-R4-25-5
SEE SHEET 4 FOR MATERIAL, STRIKER ALIGNMENT, MOUNTING, SWITCH AND ELECTRONIC ACTUATOR SPECIFICATIONS. W%%E%ﬁ%@%@%& PER ASME Y14 5M-1994 IP™® o.p DATE o Av2021 Pt 3.4 5 3 oF 4
/ 6 Z?X 4 3 2 1




8 7 6 5 §£7 4 3 2 1
REVISION HISTORY
NOT ES . REV DATE BY DESCRIPTION
A MATER‘AL AND F ‘ N ‘ SH H |10JUL2023|CAD/HRS PRN: P2023-1279
— HOUSINGS, RIVETS AND INTERNAL COMPONENTS: TLC = 7 FOR CABLE TYPE 7 (SOLD SEPARATELY) . | | AMOUNT OF
SEE CABLE SELECTION TOOL ON SOUTHCO.COM
MATERIAL - STEEL [RIGOER TRAVEL
~10 ZINC PLATED, BRIGHT CHROMATE 50
~15 ZINC NICKEL, BLACK ?35?“
~77 ZINC NICKEL, BRIGHT CHROMATE ol '
~ PAWL AND TRIGGER: [ | ng. g:if...*)...f , |
MATERIAL - HARDENED STEEL — L= <57 Cj
~10 ZINC PLATED, BRIGHT CHROMATE \
~15 ZINC NICKEL, BLACK J
~77 ZINC NICKEL, BRIGHT CHROMATE “ giz?%ff§§§§§§
~ SPRINGS: 304 STAINLESS STEEL, PASSIVATED . y
B. CONNECTOR: MANUFACTURER MOLEX, SERIES MICROFIT 3.0
C. SWITCH SEALED TO IP67: RATING 3A AT 125 VAC
TLC = 29 FOR CABLE TYPE 7 (SOLD SEPARATELY) | ] AMOUNT OF
SEE CABLE SELECTION TOOL ON SOUTHCO.COM TRIGGER TRAVEL
D. SEE J-AC-EM-10-2 DRAWING FOR ELECTRIC ACTUATOR SPECIFICATIONS. 5.2 MIN
[.20]
8.1 MAX
E. MOUNTING I (3.2
~ MOUNT THE LATCH SECURELY USING TWO (2) SCREWS IN MOUNTING HOLES PROVIDED (SCREWS NOT PROVIDED) s RN
—~ MOUNTING HOLES ARE AVAILABLE WITH 1/4 - 20 UNC THREAD, M6 X 1 THREAD (SIDE AND FRONT MOUNT) OR THRU HOLE | | [ AR ==y
- MAXIMUM ALLOWABLE TORQUE ON THREADED MOUNTING SCREWS IS 650 N.cm (57.5 in.Ib) ——d = (57 Cj
southeo \\EjP
F. THIS VIEW SHOWS THE MAXIMUM STRIKER MISAL IGNMENT ACCEPTED BY THE LATCH FROM NOMINAL STRIKER POSITION. =>ORENED 7 )
'T ASSUMES THE STRIKER CENTERLINE IS PERFECTLY PERPENDICULAR TO THE LATCH MOUNTING SURFACE.
STRIKER MISAL IGNMENT COULD BE FROM MANUFACTURING TOLERANCES OR FROM .
NON RIGID DOOR SYSTEMS AND THIS REPRESENTS THE MAXIMUM OF BOTH COMBINED. 1
G. FOR CABLE OR ROD MOUNTING USE ROTARY CLIP R4-0-72894-4 .

STRIKER POSITTION

TOLERANCE VIEW
(SEE NOTE F)

fet———— 4 () ————————

[1.57]

. 27 3 ] 16.2 NOMINAL
[1.07] [ 64] @9 mm STRIKER
(SOLD SEPARATELY, 8.1
N SEE J-R4-90-124 [.32]
f X o MAX > MAX FOR DETAILS) MAX . TRAVEL + 5.2
,,,,, . 2 A .2
5 25 4 Tl l}/——f(STR\KER) [.2] R [.2] [.2]
[1] N | I )% ’} 7.7 =] MIN. TRAVEL TO
‘ e [.7] OPEN THE LATCH
1l
i
¥ Ll
- =~
— J ,;”l, CS (:f
L—13.9 " k%éfl
'z N 7z N e
L/ () ( © [.55] southeco i ¥ -
© y 1
W} o )
(::::> 2X SIDE MOUNT HOLES
(SEE TABLE)
CPB NUMBER
2019-0330| THIRD ANGLE o
southco
i 7.5 t1
[.29 +.04] MILLIMETERS [IN] CONNECT - CREATE « INNOVATE
TOLERANCES UNLESS OTHERWISE NOTED|PESCRIPTION
SURTACE AREA R4-25 ROTARY LATCH
VOLUME ALL DIMENSIONS WITHOUT
TOLERANCES ARE FOR
SIZE SYSTEM DWG NO.
PROPRIETARY ITEM REFERENCE ONLY. A2 NX J,R472575
RO R REERT g
HEZR(E)EHO;NE;ES;CCEOENNF;‘YDAggNgTU‘(T)ALLg([)A%\JWD}iA([:L:L PER ASME Y" 4 . 5M7" 994 DRAWN BY CAD DATE,‘ BMAYZOZW SCALE " : " SHEET 4 OF 4
3 7 5 5 Z?k 4 3 2 w




